H & 0l & AHS B Ml A

0248 =g 2 3| LBta| JIEISE3H AL 2024-08-19 13:27:56

ol % THHOlIRt
Rl Mo E X+ Zol EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
rar-=inl; 51,401,427 43,041,040 8,360,387
= 4,836,000 4,596,000 240,000
X 2,635,000 5,435,000 2,800,000
< 3,141,680 2,410,200 731,480
= 40,788,747 30,599,840 10, 188,907
Mol & XHeHON &Y 9,899,879 8,492,038 1,407,841
X 2,635,000 5,435,000 2,800,000
< 443,780 540,000 196,220
= 6,821,099 2,517,038 4,304,061
oIS X+ FH 9,891,009 8,483, 168 1,407,841
X 2,635,000 5,435,000 2,800,000
< 443,780 540,000 196,220
= 6,812,229 2,508, 168 4,304,061
KHoH OIS 2tel A= 13,780 0 13,780
< 13,780 0 13,780
201 er2 3| 13,780 0 13,780
< 13,780 0 13,780
01 AtR2t2l] 13,780 0 13,780
OMati=& WSHI(Ml+E ASANE)
130,000 6 780 0 780
[ 780 0 780
ORCRAEH 2H2 ZH|(88d)
60,0002 *50H 3,000 0 3,000
(= 3,000 0 3,000
OZ4 &% Q0tAIA 2S(H8H)
10,0002 +1,0007H 10,000 0 10,000
< 10,000 0 10,000
oA Xlet 88 2 HBI(XHA) 1,150,000 960,000 190,000
< 170,000 0 170,000
o 980,000 960,000 20,000
401 AlEHIYL S THYI 1,150,000 960,000 190,000
< 170,000 0 170,000
s 980,000 960,000 20,000
01 AlZHI 1,150,000 960,000 190,000
Ox3, 1% =BT Fdld|
10,000,000 *2JH 2~ 20,000 0 20,000
o=z &L Z2Y 22T M FA(Lgd
) 18,000,000 *57H 2 90,000 0 90,000
< 90,000 0 90,000
OADIE Os2% &X FE(LEA)
8,000,000& 107 2 80,000 0 80,000
< 80,000 0 80,000
THAHLIRNE I+ HEIAY 8,454,061 7,250,000 1,204,061
X 2,535,000 5,335,000 2,800,000




A
m:
S H

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= 250,000 530,000 280,000
s 5,669,061 1,385,000 4,284,061
401 Al HIZL 01| 8,454,061 7,250,000 1,204,061
Xl 2,535,000 5,335,000 22,800,000
S 250,000 530,000 280,000
s 5,669,061 1,385,000 4,284,061
01 A<l 6,500,510 7,250,000 AT49,490
O LIZE NS X HHIAI (SHEXIT)
Z & 2,000,000,0003 *99.64% 1,992,800 4,180,000 A2,187,200
Xl 746,400 3,800,000 A3,053,600
== 74,640 380,000 305,360
s 1,171,760 0 1,171,760
OMHLIZE MK ZHIAIZ(ZUXIT)
Z & 1,200,000,0002+99.64% 1,195,680 1,200,000 N4,320
Xl 597,840 600,000 22,160
= 59,784 60,000 A216
T 538,056 540,000 1,944
OMMHABIMEXI 7 HEIAI (S THXI7) (22
~3E E8Y) 1,442,030,0002 100 2 1,442,030 1,442,030
02 Zaltl 1,942,031 1,942,031
Otiz, S S& HEAg2e |8 (22E~23
H E2%) 1,442,031,0002 * 100 2 1,442,031 0 1,442,031
OdllE, St S& A& 2eis84d
500,000,000& 500,000 0 500,000
Xl 250,000 0 250,000
=S 25,000 0 25,000
s 225,000 0 225,000
03 A& CHYI 11,520 0 11,520
OMHLIZEMNEXI T HHIAIZ(ZUXIT)
1,200,000, 000& *0. 36% 4,320 0 4,320
Xl 2,160 0 2,160
S 216 0 216
ia 1,944 0 1,944
O LIZE NS X7 HHIAL (SHEXIT)
2,000,000,000& *0.36% 7,200 0 7,200
Xl 3,600 0 3,600
= 360 0 360
T 3,240 0 3,240
NS ZEong 10,626,173 8,665,793 1,960,380
=S 745,000 150,000 595,000
s 9,881,173 8,515,793 1,365,380
ALE(25)E 10,007,860 8,065,480 1,942,380
== 595,000 0 595,000
s 9,412,860 8,065,480 1,347,380
=& FAZ2(XHA) 3,512,860 3,230,480 282,380
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A AL
Zu: X RN
¢ Mg (2%)E (SH &)
SA - BH SRS AH) - MRAS = Off &K & A HusZ
201 22 3,660 480 3,180
01 AFS2t2ltl 2,700 0 2,700
OM5xt 2HEEY =& 28 EBEd &
AL B BORIE ¢ 000&+9H 2,700 0 2,700
02 Z32<l 960 480 480
OFIMAE, &8) Jl4da2® gy 2
=2 ZE 40,0002 * 124 S 204 & 960 480 480
401 AlIEHIZL 2 0HY| 3,509,200 3,230,000 279,200
01 Al 3,502,000 3,230,000 272,000
ORET S P4 BUYHEY B
22,000,000 22,000 0 22,000
OXEHD B4E2L ZA
250,000,000 250,000 250,000
03 AIZ 2 0HHI 7,200 7,200
OL=EZ OIASTMRI| SAH 201l
2,000,000, 000& *0.36% 7,200 0 7,200
=& HUIAF (XHAI) 5,085,000 4,385,000 700,000
401 AIEHIZL S0 5,085,000 4,385,000 700,000
01 AlIEHI 5,085,000 4,385,000 700,000
SEREY FHEZZ FHUIAY
450,000,000& 450,000 0 450,000
OZ&17aH (1A =2 FHIZA
250,000,000& 250,000 0 250,000
ZAF SUASAE FHISA 200,000 400,000 /200,000
401 AIEHIZL SO 200,000 400,000 200,000
01 AlIZHI 200,000 400,000 A200,000
OZA SURASEAIH FHISAH23E SWAl)
Z2& 200,000,000 200,000 400,000 200,000
e 2 =2 HEAIEE XA 130,000 0 130,000
= 65,000 0 65,000
= 65,000 0 65,000
401 AIEHIZL 2 OHYI 130,000 0 130,000
S 65,000 0 65,000
s 65,000 0 65,000
01 Al&Hl 130,000 0 130,000
OdEZ 2 E2 AHNAIEE XA
130,000,000& 130,000 0 130,000
L= 65,000 0 65,000
i 65,000 0 65,000
A &2 LEZE E3A 30,000 0 30,000
= 30,000 0 30,000
401 AIEHIZL SO 30,000 0 30,000
L= 30,000 0 30,000
01 Al&HI 30,000 0 30,000




SA: AL
M XY 28g
¢ Mg (2%)E (SH &)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hunsz
OXER? T2 ZEE B2BA
30,000,000& 30,000 0 30,000
& 30,000 0 30,000
NN SeHE S AL AL 1,000,000 0 1,000,000
& 500,000 0 500,000
= 500,000 0 500,000
401 A& HIZ20HLI 1,000,000 0 1,000,000
& 500,000 0 500,000
i 500,000 0 500,000
01 AlEHI 1,000,000 0 1,000,000
O3|dLxtZ EXIAS(EX, 2L Al 21XI2])
1,000,000,000& 1,000,000 0 1,000,000
= 500,000 0 500,000
= 500,000 0 500,000
NeE g2 618,313 600,313 18,000
& 150,000 150,000 0
= 468,313 450,313 18,000
20w & MEHW 22 81,180 63, 180 18,000
201 L2 | 81,180 63, 180 18,000
01 Ar2eltl 43,380 25,380 18,000
Outtithe gZ2EX fse2elsy
1,500,000& 1291 = 18,000 0 18,000
N oggd 15,585,060 12,296,177 3,288,883
= 4,836,000 4,596,000 240,000
= 1,821,700 1,589,000 232,700
= 8,927,360 6,111,177 2,816,183
Sttt 2,236,177 1,877,177 359,000
= 260,000 20,000 240,000
& 47,700 0 47,700
[ 1,928,477 1,857,177 71,300
SISO 300,000 0 300,000
= 240,000 0 240,000
& 30,000 0 30,000
= 30,000 0 30,000
401 A& B2 20HY| 300,000 0 300,000
= 240,000 0 240,000
& 30,000 0 30,000
= 30,000 0 30,000
01 Al&Hl 300,000 0 300,000
OFT S8R II2l SSIIEAIS (M
gd) 300,000,000& 300,000 0 300,000
= 240,000 0 240,000
= 30,000 0 30,000
= 30,000 0 30,000
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A AL
33 19 oged
e EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
sIIEAIE el (ExX) 59,000 0 59,000
< 17,700 0 17,700
= 41,300 0 41,300
401 AlEBIYL S THYI 59,000 0 59,000
< 17,700 0 17,700
= 41,300 0 41,300
01 Al&HI 59,000 0 59,000
Skl ALY
20,000,000 20,000 0 20,000
< 6,000 6,000
s 14,000 14,000
Osg8N==Xl s SHEX XA
39,000,000 39,000 0 39,000
< 11,700 0 11,700
= 27,300 0 27,300
218t Fh| 13,348,883 10,419,000 2,929,883
= 4,576,000 4,576,000 0
< 1,774,000 1,589,000 185,000
z 6,998,883 4,254,000 2,744,883
IIAHSHEEE SHLIA (M EALS) 2,819,883 500,000 2,319,883
401 AlEHIYL L THYI 2,819,883 500,000 2,319,883
01 Al&HI 2,809,883 500,000 2,309,883
OJIASEEZ SHEHAY
3 2,809,883,000 2,809,883 500,000 2,309,883
03 Al 20HHI 10,000 0 10,000
OJAHEAZE S EEHAY
10,000,000 10,000 0 10,000
MRl EAY 200,000 0 200,000
< 60,000 0 60,000
= 140,000 0 140,000
401 AlEHIYL S THYI 200,000 0 200,000
< 60,000 0 60,000
= 140,000 0 140,000
01 Al&ZHI 200,000 0 200,000
OXEE SAM F===M=X HE=A (S
gd) 200,000,000 200,000 0 200,000
[ 60,000 0 60,000
T 140,000 0 140,000
B2 X235 AFS(HEALY) 150,000 0 150,000
< 120,000 0 120,000
z 30,000 0 30,000
401 AlEBIYL S THYI 150,000 0 150,000
< 120,000 0 120,000
= 30,000 0 30,000
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A AL
33 19 oged
ol sgoler F EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
01 AlZHI 150,000 0 150,000
OXlate AXX R S22 PESSAI(E
gd) 150,000,000 150,000 0 150,000
< 120,000 0 120,000
= 30,000 0 30,000
a2 S20|8 FHI 1,665,000 1,405,000 260,000
401 AlZBIL S CHY] 1,665,000 1,405,000 260,000
01 Al&ZHI 1,660,000 1,400,000 260,000
OAR2 sYIIBAIE FHI
Z& 30,000,0002 #4200 &~ 1,260,000 1,000,000 260,000
208t HUIAS (ST X)) (HEAI) 50,000 50,000 0
< 45,000 40,000 5,000
= 5,000 10,000 25,000
401 AlEBIYL S THYI 50,000 50,000 0
< 45,000 40,000 5,000
= 5,000 10,000 5,000
01 Al&HI 50,000 50,000 0
OS7X+ &It A
& 50,000,000 50,000 50,000 0
< 45,000 40,000 5,000
= 5,000 10,000 5,000
X o SADHE 10,930,230 9,270,230 1,660,000
KIS AL 10,930,230 9,270,230 1,660,000
OIS ELIHE ALY 10,930,230 9,270,230 1,660,000
401 AlEHIYL 2 THYI 10,925,230 9,265,230 1,660,000
01 Al&HI 10,912,000 9,252,000 1,660,000
OCE Sl =22 EXSA
20,000,000 *19H 2 20,000 0 20,000
OXEE Nxel ZEZ HHSA
20,000,000 * 100 2 20,000 0 20,000
OZEE mite| SHEHIA
30,000,000 * 192 30,000 0 30,000
OXEE 8=5= NUEZ SEEBA
50,000,000 *19H 2 50,000 0 50,000
OtEE S2cl == ZBISA
15,000,000 * 174 A 15,000 0 15,000
OtEE ZACI =2 EBISAH
25,000,000 * 100 £ 25,000 0 25,000
OfEs =302 AIH 23S
20,000,000& %1942 20,000 0 20,000
OXEE S80S SUIA
20,000,000 * 100 2 20,000 0 20,000
OFLHH Hotel s2EEIA
30,000,000 * 192 30,000 0 30,000
OFUHH FHel s2EESA
15,000,000 *19H 2 15,000 0 15,000
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M A4

M XA L TADHY

Sl XIS AL (SH9 &)
SA B SA(BH) - KISAY - BAS ofl & o & o D=2

OZUH &lSel S+ AZEXISA

20,000,000& %104 A 20,000 0 20,000
OZUH S&ke] IHHE XIS A

30,000,000 %104 2~ 30,000 0 30,000
OZUH & A=8X3A

15,000,000 * 1904 15,000 0 15,000
OZ WY A0S =2 EHISA

20,000,000& %1042 20,000 0 20,000
Oz A0S o2 FHISAL

10,000,000 * 100 A 10,000 0 10,000
Oz "ake] s3X IHHSAL

10,000,000 * 1904 10,000 0 10,000
Ol=H Hue| S2IHHSBA

30,000,000& %104 A 30,000 0 30,000
OLUzZY QU0 SZTEESA

15,000,000 * 100 A 15,000 0 15,000
Oz N4dltE SsF=IE EHISA

25,000,000 *10H 2~ 25,000 0 25,000
ONZY L0t SEE ZE3A

15,000,000 * 100 A 15,000 0 15,000
OLNzd HIl0tE ZHZ SUHSA

10,000,000 *1IH A 10,000 0 10,000
O1N=ZH ZAINE BXHZ S2EISA

20,000,000& %100 2~ 20,000 0 20,000
O2lalH &322 == FHISA

15,000,000 * 1004 15,000 0 15,000
Ot == == EE3A

15,000,000 *10H A 15,000 0 15,000
OSlalH &lde| HAHSA

15,000,000 *1JH 2 15,000 0 15,000
o2l HELI HAHSESAM

20,000,000& %1042~ 20,000 0 20,000
O2dlH AL =2 HHBA

20,000,000 *10H 2~ 20,000 0 20,000
OSlalH ArEel =2 FHISAL

40,000,000& =100 2~ 40,000 0 40,000
o2l 22| =2 FBISA

40,000,000 *10H 2~ 40,000 0 40,000
Ol =gl 53X HASA

20,000,000 *10H 2~ 20,000 0 20,000
O2l4lH ol20t8 sZ2EESA

15,000,000 *1JH 2 15,000 0 15,000
O2lalH Jietits s 2T SA

25,000,000& %1042 25,000 0 25,000
O2JaIH A0S SZ2EEHSAM

10,000,000 * 1004 10,000 0 10,000
O3 ASe|l s2EEHBA

20,000,000& 100 2 20,000 0 20,000




A A4t
X XH -
(=

=aak

SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o blnE2
Og3H gH0t= =2 EHIZEA

20,000,000& %104 A 20,000 0 20,000

OYslel S8l FRE WHIM

15,000, 00021% 174 & 15,000 0 15,000
OYSIP S0 A0 HRT2THTA}

20,000, 00024174 2 20,000 0 20,000
O2sle BS2| 53X 7H FHIBA

25,000, 00024+ 174 2 25,000 0 25,000
OYsle 8520 42 ZUIBA

30,000, 00024174 2 30,000 0 30,000
OYslP =2 VY2 HTETZA

150,000, 00024 19H 150,000 0 150,000
OYslel ALe| S2HEZTA

25,000,000 +174 2 25,000 0 25,000
OYsle OIS 42 =0 & L)

ZIYTA 30,000, 00024174 2 30,000 0 30,000
O3S WE0IS 42 ZHl & L)
ZHTA 20,000, 00024174 2 20,000 0 20,000

OYslel A0S =2 ZHIBA

30,000,000 +174 2 30,000 0 30,000
OXIAE Y220 FXE THTA

30,000, 00024174 2 30,000 0 30,000
OXIMG B0 YXE EHTA

30,000,000+ 174 2 30,000 0 30,000
OXIMS QX0 AT FHIBA

10,000,000 +174 2 10,000 0 10,000
OXINE RS20t K2 TRTA

20,000, 00024174 2 20,000 0 20,000
OXIME SX2| 0r20 EHTA

35,000,000+ 174 & 3,000 0 3,000
OXIAHB! QIF2| Bi42 HHIBA

30,000,000 +174 2 30,000 0 30,000
OXIAG QIX|2| £2 &XITA

10,000, 00024 1JH 0,000 0 0,000
OXIMe HBHE| S2EHUBA

35,000,000+ 174 & 35,000 0 3,000
OXIMe Bt2F2| SREZBA

35,000, 00024 +174 2 35,000 0 35,000
OXI&E AHL2| AXB HHBAF

30,000, 00024174 2 30,000 0 30,000
OXIAe! BOfel BR2 EZIA

40,000,000+ 174 & 40,000 0 40,000
OXI&e st2del SFX BRBA

35,000, 00024+ 1742 35,000 0 35,000
OXIMY Liatete] S2ETA

20,000, 00024174 2 20,000 0 20,000
OXMY A=ete] SRETETA

20,000,000+ 174 20,000 0 20,000




SA: AL
g NS & ZADHE
s XISIHE A (SH9 H2)
A - B - SA(SA) - N - BES Off &4 I8N BlunsZ
OXl4te 5tE 2 ti+=2 FHISAt
20,000,000 * 1742 20,000 0 20,000
OX&HH QIMe| ST EBAL
20,000,000 %17 A 20,000 0 20,000
OXH =Rl sZ2E=3 A
20,000,000 %174 A 20,000 0 20,000
OXl&HH OtAte] Bil==2 JHHSAL
30,000,000 %17 A 30,000 0 30,000
OXMH =202 SSEHIA
25,000,000 %10 A 25,000 0 25,000
OXEH =30t= =2 JHISA
30,000,000 %174 A 30,000 0 30,000
OZXEH JIME &E FHEHIZSA
25,000,0003 %1742 25,000 0 25,000
OXCH =gl SZ2EESA
25,000,000 %17 A 25,000 0 25,000
Wees(Hen) 67,936 24,653 43,283
ESONE 67,826 24,653 43,173
LFSONES 67,826 24,653 43,173
802 Btet=0IEt 67,826 24,653 43,173
02 Al - CHIEXSEHES 67,826 24,653 43,173
O'234 Wal=21=2(01Mel S=+5Hl) 2
Ta Y gy 35,600,000& 35,600 0 35,600
O'234 Wal7=2213(01We S=5+3Hl) 2
£= 0kt gty 177,770 178 0 178
O'234 Moll7&II2(Mai7& WEHl) BX
= ddaoy g 1,000,000 1,000 0 1,000
O'2849 MolSIIS(Moi7S w=Hl) X
= OIX+ et 6,000 6 0 6
OB E0lEE THIEES TN gt
= 6,307,480 6,308 0 6,308
O'3E ZL0EE THIEEZ OIX By
80,600 81 0 81
WRHAHXIZ(AHH AL SESIH) 110 0 110
WRHeHXI= 110 0 110
701 JIEtl HISHES 110 0 110
01 JIEt2H A ES 110 0 110
OZtHAIY Le3 dE=
110,000& 110 0 110




